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1 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 410 51.30] #hbList 000 ~ 4.10| 228 12.22 ZThLst 1.00] 500 ~ 667 51.30| #hbist | 500 ~ 6.67] 228 12.22
9 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 3.82 4797 #nhust 000 ~ 382 255 13.63 LS 1.00] 500 ~ 9.30 4797 #hils | 500 ~ 930| 255 13.63
3 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 540 67.39] #hbList 000 ~ 540| 214 11.48 Zh st 1.00|] 500 ~ 7.88 67.39] #hbList | 500 ~ 7.88] 214 11.48
4 100kN/mM#%#BZ % -l -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS 1.00/ 000 ~ 5095 74.45| FhList 1000 ~ 595| 1.95 10.43 LS 1.00] 500 ~ 7.36 7445 FhbLis | 500 ~ 7.36] 1.95 10.43
5 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 465 58.00] #hbList 000 ~ 465| 215 11.49 LS 1.00] 500 ~ 650 58.00| #hiist | 500 ~ 650 215 11.49
7 100kN/mM#%#BZ % -1 -~ - -|3m%#8%x%| 000 ~ 052| 3.77 20.20| 100kN/mM#%#BZ % - -~ - -|3m%i#Bx%| 500 ~ 13.40| 3.77 20.20
ZTh LS 1.00/ 000 ~ 229 30.79] #huist | 052 ~ 229] 3.00 16.05 LS 1.00] 500 ~ 13.40 30.79] #hilst | 500 ~ 5.00| 3.00 16.05
8 100kN/m##BZ % - -~ - -|3m%#8 235|000 ~ 0.63| 4.07 21.80| 100kN/m%#BZ % - -~ - -|3m%i#Bx 5| 500 ~ 12.20| 4.07 21.80
ZnLst 1.00{ 0.00 ~ 2.00 20.67| #nList | 063 ~ 2.00| 3.00 16.05 Zh s 1.00f 500 ~ 12.20 20.67| #n iyt | 500 ~ 500 3.00 16.05
9 100kN/mM##BZ 5 -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Lot 1.00{ 0.00 ~ 3.10 39.77| #nList 1000 ~ 3.10| 2.64 14.14 Zhs 1.00f 500 ~ 8.56 39.77| #nlist | 500 ~ 856| 264 14.14
10 100kN/mM##BZ 5 -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Zrn Lot 1.00{ 0.00 ~ 5.61 7007 Zhist | 000 ~ 561 2.12 11.33 Zh s 1.00f 500 ~ 8.03 70.07| Zh st | 500 ~ 803 212 11.33
11 100kN/mM##BZ 5 -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Lot 1.00{ 0.00 ~ 431 53.85| ZnList |0.00 ~ 431] 2.05 10.95 Zh s 1.00f 500 ~ 5.29 53.85| #n Lyt | 500 ~ 529 205 10.95
12 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Lot 1.00{ 0.00 ~ 540 67.37] #nList | 000 ~ 540| 2.14 11.48 Zh s 1.00f 500 ~ 7.88 67.37] #nlis | 500 ~ 788 2.14 11.48
13 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiE RS -~ - - -
Zn Lot 1.00] 0.00 ~ 594 7444 Zhst 000 ~ 594 195 10.43 Zh s 1.00] 500 ~ 7.36 7444 Zhst | 500 ~ 7.36] 1.95 10.43
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZhLst ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZhLst ~ Zh LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ FHLS ~ ZThLlst ~ ZTHLS ~ |
=EFR



